
Subject: School attendance for 6-17 years
Posted by neelanjana.p@gmail.com on Fri, 02 Feb 2018 10:19:39 GMT
View Forum Message <> Reply to Message

Hi all,
I am working on school attendance , just trying to replicate table 2.19 for Bihar
My estimate is not matching with reported 83.8 state level estimate using hv121, i am getting
85.62 . Am I  using wrong variable for computation?
This is my code:

svy: tab hv121 if hv105>5 & hv105<18 & hv024==5 & hv103==1

Outcome
member    |
attended  |
school    |
during    |
current   |
school    |
year      | percentages
----------+------------
       no |       14.37
 attended |       85.62
 don't kn |       .0186
          | 
    Total |         100

Please help.
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